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aH 1.

U 2.

e 3.

¥ 4.

U S,

fordit 100 Wit Sre ¥ A, B &1 20
e &t a1 5 AHvE A e € A1 A

SO Fran-

(A) 5% /R
(B) 44i/®,
(C) 67/,
(D) 8T/,

w40 faum yrfaew e %
TUFA W QT AT i SahTE 6T
% B

(A) 7

(B) 0O

€ 5
(D) 57 B g T

Uk e A S e 129% e fean
AT S, THE W15, 12% 2 A sman
 1zafem o e o war aiad gan-
(A) 1.44% =21

(B) 1% @@

(C) 1.44% =@

(D) IE ufleri= &t

x 3R L e N i
x¢+)ic; T WIS T E -
(A) N2

(B) N*-2

© 2N°-1

(D) 4N?-2

X7+ 1 ¢ — 1 W e s ¥
AT P -

(A) x-1

(B) x+1

© x

(D) -x

Qn .

OQn 2.

On 3.

Ond.

Qn 5.

In a 100 metre race A beats B by 20
metre or 5 seconds. Find the speed
of A-

(A) 5 metre/fsec
(B} 4 metre/sec
(C) 6metrefsec
(D) 4metrefsec

The unit digit of product of first 40
natural numbers is.

(&) 7

(B) 0

() 5

(D)

None of these

The salary of a worker is first increased
by 12% and there after it was decreased
by 12% what was the change in salary -
(A} 1.44% Decrease

(B)
©
(D)

1% Tncrease
1.44% Increase
No Change

1
The mean of X + B, is N. Then the

1,
mean of xX* + X2 IS -

(A) N2

(B) N?-2
©) 2N?-1
(D) 4N2-2

It X7+ 1 is divided by X° - 1, the
remainder will be -

(A) x-1

(B) x+1

C) x

D) -x
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P q q
goT 6.  qiE q + T =2 T oar Qné. If 7+ P =2, whatis the value of
4

@@ @Y

(A) O (A 0
(B) 2 (By 2
(€ -2 © -2
(D) gqﬁﬁa;ig‘qa (D) None of these
g 7. A ddRA T Egd wEH B Qn7. Which one of the following is in
ascending order -
ST
7 5 9 4 L 5 9 4 -
B) 6>47 3 Bl 6" 87773
o 7 3:%:3 ® 53¢ 3
Frdor = (ug Sﬂm 1 )q'ﬁ- ﬁqﬂ‘!‘mﬁﬁ Direction ( Que 8 to Que 11) There is a (number
Wk (HTE /A ) it & ¥, faaw /letter) series in the following questions
T faoTa Uz & 9y are faes with an item missing, marked with
(?) ﬁwrhrw%;ﬁqmﬁm question mark (?). Find ihe best
"y aiieres U feresheq w =e= appropriate option from the given
ity | option-
U9 8. 4, 18, (), 100, 180, 294 Qn8. 4,18, (7).100, 180, 294
(A) 32 (A) 32
(B) 36 (B) 36
(C) 48 {C) 48
(D) 40 (D) 44
TS 9. 30, 68, 130, 222, (2), 520, 738 QnY. 30, 68, 130, 222, (?), 520, 738
(A) 420 (A) 420
(B) 350 (B) 350
(C) 250 (C)y 250
(D) 280 (D) 280
U 10, 6072, (?), 200, 48, 14, 5, 3 Qn 10. 6072, (?), 200, 48, 14, 5, 3
(A) 1010 (A) 1010 ye
(B) 1001 {B) 1001
(C) 1100 ({C) 1100
(D) 1110 (D) 1110
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w1

s 12,

T 13,

9 14,

N5V, K7T, (?). E14P. BION
(A) HOR

(B) H10Q

€y HIOR

M) TI0R

Tordt foroe =ht 12 912 =1 20 =91 98
WA F AT ¥ 15 T R WY
Tora oSt =t forwe =rg= a ardm)
(A) 4

(B) 3

© 3

D) 6

af% HE = 41 997 SHE = 49 &1 &t
COME =?

(A) 36

(B) 70

€ 72

D) 78
Frifesa anfka el ¥ S fa
T, WIEH, TN oS 3 Heg grael
o W& W oA 8 ?

" ©0

(D) OOO

e : - (& 15 % 18 % form)

T 15,

Frfefaa e o o sier wgE
oty e =m (A, B,C.D) Frrear
#1970 @ sfaa =dm gfafes T
forerea = o |

BUZZER

(A) AIXXUE

(B} REZZUB

(C)  dUxsIS

D) AdZxUS

Onll.

Qn12.

Qn 13,

On 14,

-

NSV, K7T, (2), E14P, BI9N
(A) HOR =
(B) H10Q
(C) H10R
(D) TI0R

An elevator has the capacity to carry
12 adults or 20 children, How many
adults can be carried by the elevator
with 15 children-

(A) 4

(B) 3

© 5

™) 6

it HE = 41 and SHE = 49 then
COME=?

(A) 36

@) 70

() 72

®) 78

Which of the following four logical
diagrams represent correcily the
relationship between whale, fish, crocodile?

{A)
(B)

©

89@@

(D)

O

Direction ( For Que No. 15t0 18)

Qn 15.

In each of the following questions there
arc given a combination of letters
Follwed by from (A,B,(',D) alternatives
choose the alternative which resembles
the mirror image of the given
combination most appropriabely.

BUZZER
(A) ﬂ.:l NXUJd

(B) REZZUB
() duxsas
(D) 9475Ud
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97 16. JUDGEMENT
(A) TNEMEGDUJ
(B) TAIMHGAUL
(€ TraMiadaul
(D) CanaMauT

e 17. R4E3N2U
(A) ST4N2U3
(B) U2N3E4R
©
(D)

USpedrs
USNEHRA

9T 18. DBV8476
(X} aLegvad
(B) 6748VBD
(C) 8476DBV
(D) dTe8vad

fordor : - (W ®. 199 22 & fem)
e el T8 uvAl W oiet &%

Qn16. JUDGEMENT

(A) TNEMEGDU]J
(B) TraMaGcaul
(©) TUAMIDAUL

(D) LTUgOd MAEUT

Qni7. R4E3INZU
(A) A34N2U3
(B) U2N3E4R
) USmeded
(D) USNEded

Qn 18, DBV8476

(A) oregvada
(B) 6748VBD
(C) 8476DBV

D) atrgvadq

Direction ( For Que No. 19 to 22)

in each of the following questions a

iz (orge) ® @ foean mn & matrix of certain number is given with
Rt rm e @ ( ?2) A e Rl a question mark (?) in one block. These
Wl w T T fergrg Ged = numbers follow a certain trend carefully
A wE & s:anq\%im q¢ adl go through the numbers and choose the
™ (2)® o sfee dean missing (?) character -
%2 |
99q 19, Qnli9
4 5 6
2 3 7
1 8 3
21 98 2
A 94 (B) 76 (€) 73 (16
NTSE-I 4



e 20,

U 21,

WA 22.

e - (u w239 26)

Htet =t T W W g
uga, Tau e U o Se difm
U FER & UTH e -HET TR
(a9 )Fa= T A, B, C, D, E, ¥

(i)

(i)
(iii)
(i)
()

u¥d 23,

Qn 20.

A ST SR B % W H g |

B YR C % YR 3 WIg TR IS |

C T R D % YR T M1 8 |
D T WR E 3 I 301 &4

E =1 91 A ¥ 3F § UTq C O SameT

21

T A 9N Y gl TeRT B R

(A)
(B}
()
(D)

A
B
B
D

38 44 42
23 55 28
37 ? 39
(Ay 33 (B) 66 (© 22 D) 77
Qn2l.
13 49
17 69
13 11 59
(A 9 (B)y 5 (C) 10 (D 11
Qn22.
I 5 7 75
8 3 4 ?
9 7 8 194
(A) 20 (B) 43 © 89 (D) 96

Direction (Que No. 23 {0 26)

(i)

(i)
(i)
(iv)
(v)

On23.

Read the information carefully and

answer the question that follow.
A Blacksmith has five iron articles A,
B, C, D, E each having a different

weight.

A weighs twice as much as B.

B weighs four and half times asmuch as C.
C weighs half as much as D.

D weighs half as much as E,

F weighs less than A but more than C.

Which of the following is lightest in weight.
(A) A
(B) B
() €
® D
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T 24,

e 25,

9o 26.

Frdor: - (v ®. 279 30)

e 27.

geq 28

E A o fof 2 axqanl @ et & ? Qn 24,

(A) A, B
() D,C
@ A,C
(D) D,B

§, ot &) ara aegeii | 9 ¥ Qn 25,

(A) D,B
By D,C
{(Cy A.C

(D) A, B

30 Y A W el g ? On 26.

(A) A
(By B
(@)
Dy D

& T THEN SAATE R gt A
i 1o wyeY % Sea Sfm-

e Frremy wfaafirar & ®: 5= AL B,
CDETFAMATEIANE

AUEH AR EIFE D Ehi ogN & |

C, A 3 =TT o Uk (el oot ( 93 )

1B 3w D, C & faar & 9 W

gt &1

D, A ¥ &0 gor grafraa &- Qun27.
(A) =

(B) #EH

(Cy  wfsi

(D) ==l

qes gfaaw faas 82 Qn 28.
(A)
(B)
(Ch
(D}

fow )}

W &K Un

E is lighter in weight than which of the
other two articles.

(A) A,B

(By D,C

€y AC

(D) D, B

E is heavier than which of the following
two articles-

(A) D.B

(By D,C

(C) AC

(D) A,B

Which of the following is heaviest in
weight-
(A) A
(B) B
&) C
(D) D

Direction { Que 27 to 30)

Read the information carefully and
answer the questions that follow-
There are six children taking partin an
essay competition, namely A, B, C, D,
E and F. A and E are brothers. F and D
are sisters of E. C is the only son of A’s
uncle. B and D are the daughters of the
brother of Cs father -

Iowis Drelated to A ?

(A) Uncle

(B} Sister

(C) Niece

(D) Cousin Sister

How many male competitor are there-
(A) O

(B) 5
(C) 4
Dy 3
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99 29, Wigen wfaarmh s §7
(A} S B) 4
(© 3 (D) 2

U 30. C,F O frayan gafam &2
(A) THEE  (B) 98
© (D) =

e - (W & 31 AT H 35) & T
AR ahl Tga 99T o Sa 2 |
@) B A g, wAN, oy, ¥, wfE
3R Tt SfEitERe s o
o: Tl & 30 swm-srem gensl |
éﬁ'ﬁ 30}’ ﬁﬁ"'mr qa-gr)rqa '—'ﬁ@,
HehT- T o 1 A2 -FhT | 33
ot & @ FAfFaE -89 v ¥ s
STEFT 3T B-Hel HEenal, S-St fe,
e | ford ¥ 1 9 faedt foioeem © ¥ O
ST gl
i) fommi-TmeEmdErEFHay i
Er § w0 R ¢ o f @E

e 2FE & 99 ¥ 57 el 0w
FE R

(i) A e o T WA & R A SF
T & o # 11T R | e
%, ST S el @ S 5 F iy B

(iv) B 1 3-Fel @ Wes e F my ¥
SR 78 o1 H %0 E |

(v) AR BRI % W W TR R B
AR ST fawt % w9 w R wma
-1 W AT % WY T § )

(vi) AR Wt FRIfF Fromm § g & ik
ST §-Hel WIAT, B2 % 91 TE ¢ |

(vil) A AEF T T A FE

(viti) ot Frgfera 2T 1 28 & Smam e
STl At HEFHE & v T et
HHYE

(ix) o9 & gl SeR R E E

Qn 29, How many female competitons are there-
(A) 5 (B) 4
C) 3 Dy 2

On 30. How is ¢ related to F -
tA) Cousinbrother (B) Brother
(C) Son (D) Uncle

Direction (Que 31 {0 Que 35) Read the information
carefully and answer the question.

{iy ~ Sixfriends Rahul, Kabeer, Anup, Ragha,
Amit and Alok were engineering
graduates. All six of them were placed in
six different companies and were prosted
in six different locations namely Tisco-
Jamshedpur, Telco-Pune, Wipro -
Bengalura, HCL-Noida, Mecon-Ranchi
and Usha Martin-Kolkata. Fach of them
has their personal e-mail ids with different
e-mail providers i.e. gmail, indiatimes,
rediftmail, yahoo hotmail, sancharnet
though not necessarily in same order.

(i} The one having e-mail account with
sanchamet works in Noida and the one
baving email account with india times
workrs for Tisco,

(i)  Amitdoes not stay in Bengatury and does
ot work for Mecon, the one who works
for Mecon has an email id with gmail.

(iv) Rahul has an email id with redifTmail and
works at Pune,

(v} Alok does not work for Mecon and the
one whio works for wipro does not have
an email account with yahoo.

(vi) Kabeeris posted in kolkata and does not
have an account with hotmail.

(vii} Nither Alok nor Raghu work in Noida,

(viil) The one who posted in Ranchi, has at
email id which is aot an account of
redilfmail or hotimail.

(ix)  Anupis posted in Jamshedpur.

NTSE-I



¥ 31

e 32.

geq 33.

TH 34.

T 35.

W fawr o @ wa & sue 3-ue
T fras A § 7

(A) HER A=

(B) aTg

(C) ewda

(D) F=HA

= 9 @ {9 e, e v
3R safem, @ o o A W@ E?
(A) FER - FieERml - Serda
(B) el - e - Efeammg
(C) #ffm - Ager - R

Dy |y -~ -siEw

Faddammesm aai?

(A) @i 1 gl O 6 2

(B) o i Frgfer srRieqe & 2 1

(C) IR T §-He1 T 20 o WY &

(D) ¥ F A fearre &
GICE AN

e o O 9 9T HH e, waR,

S, TEe, 79 it nfera & Fragfert

TTAY T 9 B

(A) ET'F:[{" Atwe, o1, YR, U=,
FICTHRTAl

(B) e, FiCHRT, SHUSY, g,

(C) hICRRT, STeTs, SPRIRYE, 9O,
iz, gt

(D) T IS T

g & fren § Hor @ gfeamerem,

AR ¥z, 3R A & e ¥, ¥ e

HEoe ¥ W ¥ 1 5 W € Ae

Wl % wH W e @ B

(A) 91 HIfdH, wa.dLeE,, fam

(B) fowry, fot, s mifdq

(C) wa.Hiue., fownr, fagt

(D) fo=mt, maHt e, 97 wida

Qn 31.

OQn 32.

Qn 33.

Qn 34,

Qn 35,

The man who works in wipro has an
email account with -

(A) Sancharnet

(B) Yahoo

(C) Rediffmail

(DY Hotmail

Which of the following email, place of
posting and person combination is correct?
{A) Kabeer -Kolkata - Rediffmail
(B) Alok - Bengaluru - Indatimes
(C) Amit - Noida - Yahoo
(D) Raghu - Ranchi - (G mail

Which of the following is true -

(A} Amitis posted in Ranchi.

(B) Raghu is posted in Jamshedpur.

(C) Kabeer has an email id with yahoo.

(D} Raghu has an email id with
indiatimes.

Which of the following sequence of
location represent Alok, Kabeer, Anup,
Rahul, Raghu and Amit in the same

order -

(A) Bengaluru, Noida, Pune,
Jamshedpur, Ranchi, Kolkata
Bengaluru, Kolkata, Jamshedpur,
Pune, Noida, Ranchi

Kolkata, Bengaluru Jamshedpur,
Pune, Noida, Ranchi

None of these

(B)
{C)
(D

Peaple who have email account with
indiatimes, sancharnet and yahoo work for
which companies in the name sequence as
the email account maintained-

(A} Usha Martin, H.C.L., Wipro

(B} Tisco, Wipro, Usha Martin

(C) H.C.L. Tisco, Wipro

(D) Tisco, H.C.L, Usha Martin
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S 36. U el H oTgeh! ohl TEaT ergfeRat

Bt T 1 s W m e
3w & W e faenfddar 3 st @
wfaffiea TEl o " ?
(A) 48 (B) 44
©) 42 (D) 40

y9q 37, ABA+B>C+D3ARB+C>A+D

a ug e g fw
(A) D>B (B) C>D
© A>D D) B>D

Uy 38. AZ 264 %2=6.870% 3=11 B al

735 % & T HIA 2T
(A) 5 ®B) 12
© 16 (D) 3

WA 39. Ueh AT H 35 BT & | GUA HET Ht

wgfral § @t W W 3 afaa
HET F TSR N qrES T W F )
AT o T R H e |
e & 1 wen § W oft QYo TR
T U TE & | e H Sfha A
WA &2

(A) 7 &M
(C) 8daf =

(B) 59 ®™&H
(D) e feran
T Rl

:- (TS H. 409 44)

et %} 7€ AR o TR O g9t
T Seerk Eifea-

T o aitee U W Wit
wferafiran  wfearfia w6, e faaa
99 U WU, o 991 i T@aAd
oft 1561 880 wiasfirai & 224 7 =9t
w1 wae T, 240 favm & =@
T, 336 3 @& =1 wa= T, 64
A @ ud fogma o =m T, 809
=9ia iR W 1 =Ee T, 40 A
avtw 3R fas =1 wg= fwen wen
24 ¥ |t = & =ae e

Qn 36,

On 37.

Qn 38.

Qn 39.

The number of boys in a class is three
times the number of girls. Which one of -
the following number can not represent
the total number of children in the class-
(A) 48 (B) 44
(C) 42 Dy 40

A+ §_>C+ Dand B+C>A+D then
it is definit that-

(A) D>B (By C>D

(C) A>D (D) B>D

If 264 % 2= 6,870 % 3= 11 then 735 %
5 be - .

(A) 5 (B) 12

(C) 16 (D) 3

There are 35 students in a class. Suman
ranks 3rd among the girls in the class,
Amit ranks Sth among the boys in the
class. Suman is one rank below Amitin
the class. No two students hold the same
rank in the class. What is Amits rank in

the class-
{A) Tthrank (B) Sthrank
(C) 8thrank () Cannot be

determined

Direction (Que No. 40 to 44)

Rafer to the data below and answer the
guestion that follow-

A national level competition held last
year, participants were free to choose
their respective areas from which they
were asked questions. Out of 880
participants, 224 choose philosophy, 240
choose science and 336 choose sports,
64 choose both science and sports, 80
choose philesophy and sports, 40
choose, philosophy and science and 24
choose all the three arcas.
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9 40.

U 41,

TH 42.

G 43.

T 44,

feram witoma wfewfirar 3 fadt oft
&1 ot wa wE foma -

(A) 23.59% (B) 30.25%

(C) 37.46% (D) 27.27%

et gfaatirai 8 | fepas gfaea =
Tt ek &1 R SO FeRaT-
(A) 60% (B) 60% & AfeF

(C) 60% " FH (D) 75% 9 aferp

Teramt gfersfival & =w & 9 < 8

1 Fg= fomar-

(A) 112 (B) 24

© 136 D) T YHE T

e o 3 o e & weay wferanfiran

1:8'32ﬁ-

(A) U T for g Ter e < geie
(Rt )

(B) =34 ud @ uiyg famm = -
g (Fae)

(€) fagm:=s

(D) -5 A %I

gfaurft {2 ae wd faamm @
w94 foan =g w9ia 98" aun
wftrawit fawais  fas o e fowen
9T B9 AR Wet WE('' & wew
-

(A) 2

‘5 (By 1:4
C) 1:5 2

{1y, 153

(IS H. 459 47)

& T AR W e g ain
I O TG U o IR ¥

o 3 e g i wefar
=T Werd § | wiaw s W wtw
AN AT 37D W ¥ 17 30

Qn 40,

Qn 41,

The percentage of participants who did
not choose any area is-

(A) 23.59% (B) 30.25%

(C) 37.46% (D) 27.27%

Of these participating, the percentage
who choose only one area is-

(A) 60% (B) More than 60%
(C) Less than 60% (D} More than 75%

Qn 42. Number of participants who choose at

least two area is-
(A) 112
{C) 136

(B) 24
(1) Nonc of these

Qn 43. Which of the following areas showes a

OQn 44,

ratioat1:87?

(A) Philosophy & Science butnot sports
: Philosophy (only)

(B) Philosohy & sports but not science :
Science (only)

(C) Secience: Sports

{D) None of these

The ratio at students choosing sports

& Science but not philosophy to science
but not philosophy & sports is-

By 1:4

(A) 2:3 .
5 a» 1:2

(E): Tz

Direction (Que No 45 to 47)

Read the following information carefull \
and answer the questions based on there-
Raviand Kunal are good in hockey and
volleyball. Sachin and Ravi are good in
hokey and bese hall. Gaurav and Kunal
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G 45.

U 46.

9 47.

U 48.

g9 49.

v 50.

(A) 43568

FATA WA iR fEke ar=st
wed ) |iEd, 9 A iRa
FTaTe 31 FeaTe o0 W § |
R, Firire 3i seTeliaTer i st
B E?
(A) |fEA
(€) WR

(B) T
(D) T4

SmaTe, fre, weiane i gear
F =S Gerd ¢ ?

(A) | (B)

(©) s (D) TR

F FEaTe S ST =T Werd
¥ wg T, weiee o e
JewT A& e |
(A) TR
(C) M

(B) dfeH
(D) TRa

(U &. 48 T 49 % fem )

e o T uel W wge s e
wt fau w4 Taereal & | F @
g ?

e : w0 ; ; UfEeA : ?
(A) HIA (B)

() fEw (D)

HEF
T

R : J : : Wt ¢ ?
(A) Trmm (B) WA
(C) @R (D) =Afd

et wiesfar WTATH DEAY %1 1S
3587 AAT FILLR &1 SIS 74665 ¥
A S @S H IDEAL =1 &d T
ST ?

(B) 43586

(C) 48536 (D) 63548

(=
are go‘od in volleyball and é‘rickct.
Sachin, Sagar and Gauray are good in
baseball and foothall-

Qn 45, Who is good in hockey, cricket and
volleyball ?
(A) Sachin

(C) Sagar

Kunal
Ravi

(B)
@
Qn46. Who is good in baseball, cricket,
volleyball and football-

{A) Sachin (B)
(C) Gowray (D)

Kunal

Sagar

Qn 47. Who is good in football and baseball but
not good in hockey, volieyball and

cricket ?
(A) Sagar (B) Sachin
(C) Ravi (D) Gaurav

Direction (for Que No 48 to 49)
Find the correct choice from the given
4 options in place of question mark (7)

Qn 48. Bank : Rupees : : Transport: ?

(A) Goods (B} Road
(Cy ‘Traffic (D} Speed
On 49. Market: Demand : : Farming :
(A) Danmer {3y Monsoon
(C) Foodgrain (D) Supply
Qn 50. Tn certain language DEAF is coded on

3587 and FILLR is coded as 74665, How
is IDEAT, written in that code-

ws% 3 f
(A) 43568 (By 43586
(C) 48536 (D} 63548

NTSE-I
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wron s et (fe=et ) = 2016-17

T 51w + Uyad o wi dn -
(A) RETR (B) wovH (C) Wiy (D) W

TS 52, gW g Hient S-9TeR § HichT T SUga aHiaETe vies B0 -

(A) gl (B) e (C) w4 (D) T

U 53, Treifera arerat @ sage fadmur aren aea @ -
(A) o2 fai g ooy ol Bt @
(B) TR H 90 95 U & o
(C) =% ¥ 9 9 39 FM H o T
(D) I 9oY &% GUTER § TR F 60T ¥l 21

Y 54, umamor’’ yrex ferw oo 9% @ grafuE § -
(A) TEHE (B) TwH (C) 3w (D) famei

WOT 55, 'O UHIST U AT HETER o Suga sdaret fasen sifea -
(A) = 9EH o e
(B) ohia 9figm e
(C) fomn ufism & w1 &t wiftd
(D) =7 ufisn g stfemr @ &1 g1

g 56, Taerferftaa arel | yrg e € -
(A) el %1 U T of S
(B) T Tl I e o Sl
(C) el shi Ueh HTe of 3nadt
(D} Tk | Gl 1 of 3713 |

weE 57, '@ A, o9 WEAw ) T o it O A U R -
(A) T (B) HgF (C) =ATfa (D) fax

UYT 58 Gret WreT ot ferfa & -

(A) TR (B) st (C) Hepd (D) et
9w 59. o vreR W Suw @ yAm A gen § -
(A) HEWS (By W (C) wRfae™ (D) HWEMETR
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U 60, ‘mult’ o OE faem v § -
(A) RO (B) R (C) it (D) ST

U 61 ‘SeAe T i frw faar w e g -
(A) Ty (B) v (C) HE (D) =T

U 62, 'WETEHT Wi S 39T U W T w6 9 ) 9§ wwd gaa ® -
(A FreagarEs (B) YETATHF () stwagaEs (D) Foams

U 63, T o R W @ wafie ® -
(A) game (B) TEl (C) Wl (D) gl

U 64. WEI S ST IRE R -
(A) SEREET (B) wEITE (C) Efamen (D) S

oy 65, ‘fam’ @ whfem wmm-
(A i@ (B) fudem () fem (D) W=t

U 66. 'HHA' TR F FEHERRE -
(A) F9mre (B) =AY 3w (O fadawm (D) YwHg

U 67. IRt A ferad wEi ¥ - arera ¥ it ves % aueauE ¥ wuE § -
{A) HEHIE (B) &% (C) FEmE (D) TIET

Uva 68. e fau o SRt anfeher e ¥ wmEa -
(1) TSt A 3 % g fe o g ot gd)
(2) el STeal B § 23S we e g |
{3) Jw ¥ Araw faam 3 gafw 9wt g9 w1 afrsEmt o o #5 o
(4) G U FY 99 W T
(5) foer o wHeTR =l & woel aeis gg off
(A) 2,1,4,53 B) 453 1,2 € 541,32 @O 1,42753

s 69.  Taitema e o foran fardmo & -
(A) T F) AT A (B) 1 =k % |1y frstet fir
(C) oSt S¥sd g o = TEH (D) T 7o | FIE e T G

g 70.  Tawifena vies e agae A ygwa g E -
‘(A (B) =9 (€) (D) TEA
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goq 71, IAETERR @ATE -
(A) fesa (B) #eq (C) A (D) WA

99 72, ErEr % faude arEnsi aen ge g ?
(A) e (B) TRaT () J%F (D) =i

W 73 T R G - 36 e W e i W § 7
(A) T FREH (B) =l B (C) FFEHAFRE (D) AT FR

U 74,  'diOvE @ w1 TR OE -
(A) ST (B) ¥iid () fa=m (D) g

U 75, TOR ST AW R - S o forn Sfuw ves & -
(A) &= (B) SAFET (C) RA (D) 34

U 76, o - faga & fore sagee fama § -
(A A (B) — €y 0 D) =

yys 77. VEEmNE R TRu aul & use ST E ?
(A) & (B) & ©) 7 |

yya 78. Wi AR s wmTan g ?
(A) TS (B) TS (C) Tk 9T (D} 297 AT

ST 79, TN I TS, AT MG AT e -
(A) SFOEEI g (B) R WHE FET (C) M FA (D) =95 & =i T& |

gv 80. WA % Rt T uR T § 7
(Ay T (B) ¥R (C) dig (D) B

9o 81,  Frefafae § S uw s A g i g -
(A) T (B) Ut () T (D) =Hif

Uy 82, e Wit sy feedt favatamea st fora 7
(A) g (B) T el (©) =i (D) wifes

U 83.  ‘TETATSA WIE WRl o1 UHT €EnT 2@ W fenm’ arera § it wes § S §-

(A) BSR 9 (B) et (C) THEE (D) TH &SR 9
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T 84,
9?? 85.
¥ 86.
T 87.
T 88,
T 89.

e 90.

g 91

IR0 TR T GART g1 § -
(Ay WFEE S (B) WIYAE| () =2 T2 (D) UG EI

H I YT T AR AT T 25 T ..., A FEeTd

(A) HgF (B) T (C) ¥ (D) w79
ST TR ¥ -

(A) ATER (B) i (©) &% (D) ®gam
Hftrare ua i o e ux ardts gren firen?

(A) SFiee (B) @it (C) TagFy (D)} TTEM

form vrss 470 % WY ‘TR YR W WA T B Har -
(A) ¥E, ¥, Ol (B) WSS WH. 9@ (C) W, 9§, it (D) 3, view,

SATHAT TR AT BT -
) ¢ fmgen 8) grfmEdi ¢ mEnsE@i o %8 e gen

e 3 et =t gafa =it afte & wal sugea oo = E -
(A) Torger a1 W e1fiepR B & |9 & @ UGl a1 F3 ST
(B) St oRae: =1 A1ed & o8 el R SaH o |

() A g A= B9 T -9 @ Y Bid T |

(D) ST B9 F154 H| A 6L &, T AN Tl g8 A wEe |

feafafia srafad e st gea XU T W % I9gEA Je aret faeed T T )
T ot TR fova =it WreiHae SRl § 8w T wRkE w5 i ¥ ai 9
AT 31 T T HER T I A fie o & | et e a9, it va w3 o o
H THer- SRt W9 9 T4 © | TRt ST9-ST9 S, S W, WY 8, 79 o ae W whar
I %, i SIRAETHT 39 St R R ST e G € | 28 S Wi geAT S R |
YRE YR 741 Y Sl o o I T T ¥ | 9RG v s we
FAFAI S81 & T T TN W ¥ | YT e Uy S ag i ga | a6y wn o e
T o g% | g o H WS- THE i Ol ) SR W SieE i e s v, S o fem
A A L T
TRA Y T & -
(A) TEH (B) =oAL (C) e (D) T H &R T
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e 92.

T 93.

¥ 94.

9o 95.

G 96.

e 97.

99T 98.

¥ 99.

e 100.

W I UTehfaes QAT e -

(A) 3TeilfeRe (B) ST (C) amnta (D) FRe
WIASTHT A 397 T LTt Rl 70 & qahma § -

(A) EHmEl (B) SR (C) sHT (D) =
UTEA AT S TR el i WTHESE 3 AW W ST W e 29T R -
(A)y == (B) ST (©) 9 (D) T7H 9 HE &
WA o YTei=ay 19 & -

(A) FH (B) mgferet (C) THTET D) =7

Ferfefan svafen meia w1 st o AR Ry 1oy % et s s e
FE-
;=i e Frebert 8 e & wepfir st Qe s wehan | S e o 1 g

ot o st vt ot 3 v = 36 Wl 6 svar o T o, it @ g st d

AR T | T ST o1 | 72, T AR T A = T ol ) =7 7T S 7 S g
o ST AT | S e 2@ Y I AR Ta § vl AR e e W R Y gd
T fofet | 5 ot T2 1 womre TR | SRR o ot 9 & AT 21 T S we W el T
o | et e e 1 9 ) Al H A # e st onl | vl w s w = | o s

T A AT 399 1 |

T4 =t gorm faRan -
(A) R % gRT (R) wi@eh = Tuamst & g
(C) | g (D) =41 o | fredt o Zr =4 |

8 wrer: ST Rrasht o T o % v % e ¥ s o, Yetea & st
e oft | aer o v fagm (1) § -

(4)  sviferm fo (8) wedfanm faga (©) wiftrmfa (D) s fe
SRR T Ul T W 9 S T 3R W wanrer thet T o | " -

(A) fag amm (B) T& amad (€ SgFRAFE (D) ITa
3mepTer o ferment enforan thelt g off ?

(A) T (B) qarea & (C) Tata (D) e
SIeEPR B

(A) W4 &1 9@ + (B) FERTHIIHE  (C) YRRIHIEHE (D) Yeh19T HT 37919
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LANGUAGE COMPREHENSION TEST (ENGLISH)

Instructions for Q. No. 51, 52 & 53

The following five sentences come from a paragraph/dialogue. The first and last sentences are
given; choose the order in which the three sentences (PQR) should appear to complete the
paragraph/dialogue.

Q.No. 51.

S1. Remove the thermometer from its tube.

D s P SO R Ay AR AR T A R DR A AR SR
B e cemennnnenn e R S R A s A B A A 3 B P

......................................................................................................................................................

Then move the thermometer from the patient's mouth and read the temperature.

Ask the patient to keep the mouth close.

Shake down the column of mercury.

Place the bulb of the thermometer inside the patient’s mouth below the tongue for two

POTgE

minutes.
Choose from the options below :

(A) PQR (B) PRQ (C) QRP (D) RQP
Q.No. 52.
S1. May | speaktoMrs. Mehta?
I T R T A s S S RS 83 0 B VS s e S5
s P STOTTB——
7 OO OU OO S PSP S (1 o ooty S R o L

S5.  Tell your mother that there is a party at my home at nine in the evemng tomorrow.
P. | am Mrs. Verma. May | leave a message?

Q." Sorry, mother is not at home.

R. Yes, of course aunty.

Choose from the options below :

(A) PQR (B) QRP (C) RQP (D) QPR
Q.No. 53.
S1.  Agentlemanwho lived alone always had two plates placed on the table at dinner time.
2! o ercmeissesssesnraasasanas sl b R AR T T S G s A B8
. L nrcnmemen e R R R 5 e o S S T A S SN
T T T S A s S o S 0 S A o e Ak 8

S5.  Inthis way the cat showed her gratitude to the master.

P. 7 Oneday just as he sat down to dine. the cat rushed into the raom.

Q'  One plate was for himself and other was for his cat and he used to give the cat a piece of
meat from his plate.

R. She dropped a mouse into her own plate and another into her master’s plate.

NTSE-l 17




Choose from the options below :

@) QPR (B) RPQ (C) POR (D) PRQ
Q.No. 54.
¥ One day a hungry fox saw a crow.
U OO U Y UU O UPTUUR OO U SRR UP NSO PRPP
3 The fox planned to get the piece of bread from the crow.

(A)  The crow looked very ugly.

(B) Ithad apiece of bread in its beak.
(C) Itwas staring at the fox.

(D)  Thefox was angry at the crow.

Q.No. 55.

1 Ram went for a bike ride,

B e R R S e A A R R e
3. He hurt his knee so his mother put a band aid.

) Heenjoyedtheride.
(B)  Hehitabumb and fell down.

) He stopped and had snacks on the way.
(D)  His mother loved him very much.

Q.No. 56.
y Take two slices of bread.
D e eectnseeaaranesn e o dn e e et €A A LA e P (A AR e RS em R aneF AR RS A NE R RN T AR AR e A TR YIRS

; Put the two slices together and enjoy the butter and jelly sandwich.
(A)  Spread butter on one slice and jelly on the other slice.

(B)  Gotoshop and buy some bread.

(C) Placethem in the fridge.

(D)  Call yourfriends and enjoy the sandwich.

Instructions for Q.No 57 to Q.No. 61
Choose the werd which best fills the blank from the four options given below ;

B, Bools.. ... the tree tightly to the soil.

(A) grow (B) push (C)y  pull @ hold
BB, AWk s commmansassy tomorrow morning.

(A)  coming (B) came (C} become @ come
59. Wouldyoumind............coooooooiie. the window.

(A) close @ closing (C) closed (D) haveclosed
60. VitaminChelpsto......................... diseases.

(A)  know (B) find (C) fought @) fight
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61. Mymotherisreading..........cccccviciiiinnans newspaper.
(A) today's (B) today (C) todays (D) todays

Instructions for Q.No. 62 to Q.No. 66
Choose the correct meanings for the given idioms/phrases :

62. Bedofroses:
(A)  verysoftbed (B) dulllife (C) belongto (D)  fullof joys

63. Byleapsandbounds:
(A) verysiow (B) veryfast (C) indetails (D) aimlessly

64. Backstairinfluence: .
(A)  fair and proper influence (B)  secretandunfair influence
(C) political influence (D) noinfluence

65. Baker'sdozen:
(A) ten (B) eleven (C) thirteen (D) twelve

66. Totieaknot
(A) tohitsomeone (B) tostaycaim (C) togeteducated (D) togetmarried

Instructions for Q.No. 67 to Q.No. 70
Find out the alternatives which are most opposite in meanings to the words given

67. Guilty:

(A)  criminal (B)  innocent (C) humble (D) good
68. Expand:

- (A) bend (B}  contract (C) tie (D) stretch
69. Brisk:

(A) agile (B) fast (C)  sluggish (D)  swift
70. Minor:

(A) tall (B) major (C) big (D) heavy

Instructions for Q.No. 71 to 73,
Select the most appropriate options to fill in the blank from the following alternatives given below:

71.  I'mveryhappy as my favourite singer .......... to my town next october for a big concert.

(A) hascome (B) hasbeencoming (C) isgoingtocome (D) doesn'tcome
72. CanthejuiCer.........ccevern by Saturday?

(A) repaired (B) berepaired (C) hasrepaired (D) being repaired
7 < N one is yours? 3

(A)  Which (B) Who (C) What (D) How
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Instructions for Q.No. 74to 76
Choose the alternative which can be substituted for the sentence :

74. Agroup of stars -
(By  Constellation (B)  Solarsystem (C) Satellite (D)  Orbit

75.  Apaperwritten by hand :
(A} Document (B) Report (C) Manuscript (D) Essay

76.  Thatwhich can be easily burnt :
(A)  Inflexible (B)  Invincible (C) Inflammable (D) Incorrigble

Instructions for Q.No. 77 to Q.No. 85
In the following passage there are some numbered blanks, Fill in the blanks by selecting the most
appropriate word from the options :

The foundations of good reading 77 the same for all children, regardless of 78
gender, backgrond, or special learning needs. 79 children use the same processes in learning
80 read. Some will need more help 81 others and may need more instructions 82 one reading
skill than another. 83 all children must ultimately master the same basic skills 84 fluency and
comprehensions to become 85 life long reader

7. (A) is (B) has - (C) are (D) was
78. (A) their (B) there (C) his (D) them
79. (A Al {(B) None (C) no (D) each
80. (A) to (B) of (C) for (D) in
81. (A) as (B) then (C) to (@) than
82. (A) with (B) by (C) in (D) on
83. - (A) but (B) and (€) so (D) of
84. (A) from (B) by (C) on (D) for
85. (A) as (B) the (C) an D) a

Instructions for Q.No. 86 to Q.No. 90
Read the passage and choose the best alternative for the questions given below :

Clarksonis a large town. It has more than fity thousand people. It is situated next to a large river, the
Clark River. Every day people take the ferry from North Clarkson to South Clarkson to go to work.

Most people live in North Clarkson. There are many trees and the streets are very broad. When
the sun shines and the children run and play in the safe streets, North Clarkson looks wonderful.

South Clarkson has a lot of sheps and factories. People don't live there but they come in the
morning to work. There is a big stadium where the Carkson Tigers play. On Sundays, many
people go to watch their favorite team.
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At the weekend, the people from Clarkson enjoy walking along the bank of the Clark River. They
also sail small boats on the water and if there is a little wind, they fly kites in the large park.

Eyery year, Clarkson grows in size because a lot of people come to live there. The government
builds more houses and the streets get busier. Maybe in the future, if the town continues to grow,

it will become a city.
86. Whatis there near Clarkson?

(&) ariver (B) asea (C) amountain (D) aforest
87. Whatdo you see in North Clarkson?

(A)  offices (B) factories ®) widestreets (D) stadium
88. Where is the stadium?

(@) inSouth Clarkson (B)  outside the town

(C) neartheriver (D) onthebank ofthe river
89. What do people in Clarkson do at the weekend ?

(A}  swimintheriver (B)  doshopping

(@) goforwalks (D) takerest

90. Which statement in not true about Clarkson?
(A)  ltis situated next to a small river.
(B) Everyyearitgrows in size.
(C)  More than fifty thousand people live there.
(@  The people take a ferry to go to work.

Instrctions for Q.No. 91 to Q.No. 100

Arobot is a machine. But it is not just any machine. It is a special kind of machine. It is a machine
that moves. It follows instructions. The instructions come from a computer. Because it is a machine,
it does not make mistakes. And it does not get tired. And it never complains unless youtellitto !

Robots are all around us. Some robots are used to make things, example cars. Some robots are
used to explore dangerous places. For example, robots can help to explore volcanoes. Some
robots are used to clean things. These robots can help vacuum your house. Some robots can
evenrecognize words. They can be used to answer telephone calls. Some robots look like humans
but most do not. Most robots just look like machines.

Long ago people imagined robots. Over 2,000 years ago, famous poet imagined robots. The
poet’s name was Homer. His robots were made of gold. They cleaned and made things. But they
were not real robots. They were all imaginary. Nobody was able tc make a real robot. The real
robot was made in 1961. It was called Unimate. It was used to make cars. It looked like a giant
arm.

In the futur, we will have even more robots. They will do things that we can't do, don’t want to do or
that are too dangerous for us. Robots will help us to fight fires, wars and sickness and discover
things. They will help to make our life better.

90. Asusedin paragraph 1, we can understand that robot doesnot get -
{B) - tired (B) happy - (C) angry (D) sad
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91.

92.

93.

94,

95.

96.

97.

98.

99.

100.

According to the author, robots may be used to

(1) make cars

(i explore volcanoes

(Il answer telephone calls

(A)  lonly (B) landllonly @) |1, andlll (D)  llandllionly

What is the main purpose of paragrah 2?

(A)  toshow how easy it is to make a robot,

(B) todescribe the things a robot can do.

(C) totellwhatarobotis.

(D)  toexplain the difference between a robot and a machine.

According to the passage, when was the first real robot made?

A) 1961 (B) 1900 (C) 2003 (D) 2000 years ago
The robots imagined by Homer were made of :

(A)  siiver

(B) steel

(€) gold

(D)  bronze

Which of these statements correctly summarizes this passage ?
{A) Robots are old.

(B}  Robots are confusing.

(C) Robots are dangerous,

(®)  Robots are helpful.

The name of the poet who imagined robots 2000 years ago was :
(A)  Ravindranath Tagore (B) Blake @ Homer (D) Wordsworth

According to the passage the robot follows the instructions that come from a :
@A) Computer (B) humanbeings (C) children (D) allthe above

The firsf real robot looked like a :
(A) gaintfoot (B) giantman (@) giantarm (D) giant

Thefirst robot was named :
(A)  Ultimate @B) " Unimate (C)  Uninate (D)  Unicex

Which title best expresses the main idea of this text?
(A}  Robotand its invention.

(B)  Thefirst robot.

(C)  Robot has made man lazy.

(® Robotand its importance.
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